yAIso show precipitation Pressures over United Kingdom
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Rossby-Gill problem "
9o = ﬁ)ﬁ x>0

Initial condition "
—fi—~  x<0

Ho

—Ho
Initial Sea Surface (steady state, u=v=0 at t=0)
Will find Geostrophic Balance (steady state at t — )

Using (linearized) potential vorticity conservation

adapted from
http://atmdyn.org/teaching/atmdyn1/08_geostrophic_adjustment.pdf



Geostrophic adjustment

1. Linearized PV equation
2. Rossby-Gill problem (vallis chapter 3.8)

adapted from
http://atmdyn.org/teaching/atmdyn1/08_geostrophic_adjustment.pdf Holton (|DM, 2004)
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Rossby Adjustment Solutions U=U(x,t) and V=V (x.t):

Rossby Adjustment Problem
: A—— TR T T R R
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Rossby Adjustment Problem




